
N = 337

337 circles in a 1x0.20000 rectangle

radius =   0.012747208926
ratio  =  15.689709109230

density  = 0.860161471663
contacts = 648
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N = 338

338 circles in a 1x0.20000 rectangle

radius =   0.012726757665
ratio  =  15.714921684829

density  = 0.859947872758
contacts = 777
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N = 339

339 circles in a 1x0.20000 rectangle

radius =   0.012714977012
ratio  =  15.729481840056

density  = 0.860896087052
contacts = 780
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N = 340

340 circles in a 1x0.20000 rectangle

radius =   0.012710713913
ratio  =  15.734757415648

density  = 0.862856712349
contacts = 506

 E.SPECHT
09-AUG-2010

N = 341

341 circles in a 1x0.20000 rectangle

radius =   0.012709908507
ratio  =  15.735754501344

density  = 0.865284859378
contacts = 508
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N = 342

342 circles in a 1x0.20000 rectangle

radius =   0.012702672866
ratio  =  15.744717833592

density  = 0.866834545309
contacts = 443
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N = 343

343 circles in a 1x0.20000 rectangle

radius =   0.012682324965
ratio  =  15.769979128300

density  = 0.866586165121
contacts = 911
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N = 344

344 circles in a 1x0.20000 rectangle

radius =   0.012673283247
ratio  =  15.781230175021

density  = 0.867873849390
contacts = 583
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N = 345

345 circles in a 1x0.20000 rectangle

radius =   0.012665895664
ratio  =  15.790434826180

density  = 0.869382280896
contacts = 574
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N = 346

346 circles in a 1x0.20000 rectangle

radius =   0.012664325970
ratio  =  15.792391989463

density  = 0.871686131900
contacts = 549
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N = 347

347 circles in a 1x0.20000 rectangle

radius =   0.012661545917
ratio  =  15.795859471296

density  = 0.873821689738
contacts = 789
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